WLy 4.2
1. 1A agrsipidl adL U
(i) ASWLLIFT
LI =4 34, IF = 3 A4, TL = 2.5 Adl, LF = 4.5 @l IT =4 A4l
o. ua:Ll=4uHl, IF=3 44, TL =2.5 w4, LF = 4.5 wl, IT = 4 »sl
QL Adrsiel LIFT
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(a) LI = 4 Al 231,

(b) L nigl 4.5 A4l Biosal 4 21U il

() | Higl 3 Aul Biowal 49 AU 2121, B ALY 65l UAH ALY, A 93 del F i AL
(d) 2uAvis LI 214 IF s7isl.

(e) L widl 2.5 A4l Biowl 49 Ay 2zl

(F) 1 wigl 4 Al Bioral 49 Ay izl

(g) 2l A o5 UAH ALY A 98 ded T M 2L

(h) 2uAlvis LT, IF, w4 FT s7isl.

Adesiel LIFT Hidld Adesiel €9,



(i) adsloL GOLD
OL =7.5 «l, GL = 6 94l, GD = 6 4#l, LD = 5 3#], OD =10 w4l

of. & :OL =754, GL =6 4l, GD = 6 «#l, LD =5 #l, OD = 10 «Hl
QL Adrsiol GOLD

O

RAlAL AU

(a) OL = 7.5 2l <lzl.

(b) L gl 5 AHl Biowal 4 Ay izl

(c) O Hidl 10 AHl Biordl @ AU 212l 241 A AL UAH AU L 693 del D «lu Bl
(d) 2uilvis OD 214 OL 6714l

(e) D nidl 6 Al BissuL @9 A1y €zl

(f) L nidl 6 24l Bioral @ 21y 2zl

(g) 2L AU 6wl UAH ALY, < 93 ded G «AlH BN,

(h) 2wivis GO, GL i GD syldl.

245l GOLD Hidlet Adpsiul 69,



(iii) UHoUsy A4dsIRL BEND
BN = 5.6 ¥4, DE = 6.5 4l

&. & :BN =5.6 44l DE = 6.5 uHl
Rl : UHoHIsy Adrsiol BEND
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RAeAleAL Al

(a) DE = 6.5 4l izl

(b) DE <l doi[gaciioys 23l

(c) dotlzaciioys 21 DE L ©92[o1g, O Hidl 2.8 dHl Bisril a5 DE <l Guz dusy <la
Y1 23,

(d) AL AU or4l dorlzaAMIers < 92 ded N dHsy B UlH 211Ul

(e) 2uA1vis BE, EN, ND i+ ND sxiél.

245l BEND HIdA HHOUSY Adbsiil 69,



